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1. F0(0,0) & 2 5 A(2,-3), B(3,1) I&DWTRERD k.
(1) 250, A OEEREE OA (2) 250, B OFE#HE OB (3) 2 /A, B Ol AB

2. 25 A(3,2), B(—1,3) ICOWTRD D ERE R R K.
(1) 2 M OFHHICH 2 vl EOR P (2) 2 D OFHEMICHZ y I EOR Q

(3) 2 MO EHBCH I EMy =2 EDOHR(a,a) (4) 280 OEHHICH 2 ERy = — LD S(b, —b)

3. 25 A(=3,-1), B(2, —4) IOV TRD DO ERER R X.
(1) ¥ AB %2 3: 21N T 58P (2) 7 AB % 1: 312N T 58 Q
(3) $5r AB % 4: 1 ICNAF B4R (4) $15 AB DA M
4. XD 3 pi%xERE T2 =AFOELDOEEEZ KD X.
(1) A(_1a4)7 B(2a 1)7 0(27 _2) (2) A(47 1)v B(07 _7)7 0(5? _3)
(3) A(_Sv _4)7 B(27 _3)a C(L 1) (4) A(47 _l)a B(27 2)v C(_L 1)

5. XD IHA B, GE C(r,y) ICOOWTAABC DELHN G THBE %,y DEEZRD K.
(1) A(275)a B(3771)7G(171) (2) A(4771)a B(1773)7G(2771)





